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Time Allowed : 2 Hours} [Maximum Marks : 100

1.

India’s rank in the production of fruits and vegetables in the world is at

present :
(A) First (B) Second
(C) Fourth (D) Sixth

Which one of the following is consistent with &e@a ?

(A) Restrictions on the movement of goods 0

(B) Existence of anti-dumping poli ¢

(C) Absence of tariff %

(D) Encouragement to bal+gmwth

Which one of the follew ater resources is known as green water ?
(A) Rain ¢ \ (B) Lakes

(C) (D) Rivers

The Commission for Agricultural Costs and Prices (CACP) recommends the
Minimum Support Prices (MSP) for :

(A) 20 crops (B) 21 crops

(C) 23 crops . (D) 26 crops
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L

frva § W U4 wiEEE & IAEE B OWRa H OBH adaw A % o

(A) w9H (B) f&m

(€) =a4 (D) = ;
ffafag # 8 S99 UF =0d =9E § "5 R 2 @

(A) T=# & 997 § yEes C)O

(B) wre-faind Hifa =1 sfee *

(C) WEF w1 srgfefa @

(D) Hafem wafa =+ SieaEd

frefefas =@ damA 'i@!mzﬁammt?
(A) =mi . | (B) &

\ o'

F = s (o) feet wue & fou =Een wed g
(mnuRd.) Fuifa & 2

(C)

(A) 20 wHH (B) 21 B&A

(C) 23 FEe (D) 26 HFE
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5. For which of the cereals, the Commission for Agricultural Costs and Prices

(CACP) does not recommend the MSP ?

(A) Paddy (B) Maize

(C) Barley (D) Buckwheat
6. The central issue of Doha round of WTO has been :

(A) Trade in Services

(B) TRIPS O
(C) Agriculture related issues 0

2
(D) Exports from developing countri

7. The regression lines Y on X %Y will cut each other :

(A) At a point of X ouQ (B) At a point of ¥ only
(C) and Y (D) None of these

8.  The reciproc M » harmonic mean is equal to :

(A)
(B) Sum of all observations

(¢) Sum of the reciprocals of the obae.rvations

(D) Arithmetic Mean of the reciprocals of the observations
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5. A wma=l # fou, M e @ gem sEm (WgEd) gEem wudd gen
(Tm.umd) =1 Twgfa T ww § 2 |

(A) H (B) T
(€ =r (D) =g
6. TEAM F e TH W BT TE W ¥ :

(A) Farafi § = @

(B) fe=

(C) #fu Fafua qa2 0

: \ 4
(D) foreer 2 @ Frafa @

7. YWX®& aq X WY # @ TF GE A Fed €
(A) #aa X @@ fag m (B) Haw ¥ @& fag w
(C)iw\?j@ (D) = § wré T8

8. TS WE @ %

(B) =W Jmwil & @m &
(C) W&o % =qohdi & am
(D) B%oii & Sgerdl &1 TErAL A
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10.

11.

12.
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If every item of a given series is multiplied by a number, say &, which of

the following measures will remain unchanged ?
(A) Arithmetic Mean (B) Median
(C) Variance (D) Coefficient of variation

Karl Pearson’s coefficient of skewness is based on :

(A) Arithmetic Mean, Mode and Standard Doviation‘a;
. O N

A p

(B) Arithmetic Mean, Median and Standard Dé\nw:

(C) Arithmetic Mean, Mode and Mean Peyiation

(D) Both (A) and (B) above

Which of the following meastimé,con be obtained using ogives ?
(A) Mode , / (B) Median

(C) Both (Ajadd fB) above (D) Range

If for a givel.series, the arithmetic mean is 12 and the variance is 144, then

the coefficient of variation will be :
Himexam.com

(A) 100 percent (B) 8.33 percent

(C) 200 percent (D) 1200 percent




9. ofz feeat Soit % Wi 9+ 5 fafesa dem, 9 & ] on w2 fam e, @
Freifafas # 3 wrm "9 sMfEtE smo?

(A) TEFEL HME (B) wfezsm
(C) W= (D) fages o
10. = fyges #1 fawgm ome safE §
(A) HurFal WM, sEeE a9 wa fEEeE W @
(B) wwr wrem, wis ag w9 fauem W O
(C) HuFR W, ages aq) e fages N ¢

(D) IwdE (A) 791 (B) 3F W

11. ﬁwaﬁﬁaﬁ(sﬂvm'a)a‘-‘v\w, ¥ d f&g o & 7@ oo

TFE & 7

(A) TR ’\ | (B) wifea

(C) w@!(a)ﬂﬁ (D) famm

12, 7t fad St & fom weRR W 12 99 WO 144 A, @ fEew s @
(A) 100 wfrer (B) 8.33 wiva

(C) 200 wfave (D) 1200 wiawm
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13.

14.

15.

16.

70
If the demand function is ¥ = "I;‘- then the elasticity of demand is equal

to :

(A) Horg | (B) 1
1

© = (D) 7

If for a monopolist, price is 20 and the elasticity of demand is 2, the marginal

revenue will be

(A) 0 (B) 40

(C) 10 (D) -10

If interest payments are subtracted from gross(fis eficit, the remainder
will be : ' A

(A) Primary Deficit udgetary Deficit

(C) Revenue Deficit @ Monetized Deficit

Fiscal consolidation can be Y -

(1) Increasing surpluses Us

(2) Raising additio rees through taxation

(3) management
(4) y of money in the economy
Of these stat

(A) Only (1) and (2) are correct

(B) Only (1), (2) and (3) are correct
(C) only (2), (3) and (4) are correct
(D) (1), (2), (3) and (4) all are correct
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13.

14.

15.

16.

ufawhmmwlp‘l . & uin w A A

(A) I . (B) 1

1

() 7 m 17

afz fed wwlwET ® feg, FWA 20 A9 WM F AR 2 R, @O A
f <

(&) 0 (B) 40
(© 10 D -10

¥E TEE TIENY 92 R WS PEEA B ANy W
(A) wafes =2 (B) B,

(C) Tr== Hel ( el
MWﬁmﬁmm®: |

(1) Tt &= 5 IEA ATHL

(2) I FU F azw

(3) e HF-

L

®am (1) 991 (2) ¥4 &
(B) =9 (1), (2) a1 (3) T ¥
(©) BFE (2), (3) 791 (4) 74 &
D) (1), (2), (3) 71 (4) F& &
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17.  Which of the following theory of taxation is also known as, “Tit for Tat”

theory ?
(A) Ability to pay theory (B) Equal sacrifice theory
(C) Least sacrifice theory (D) Benefit theory

18. Consider the diagram given below :

The Gini coeflicient is @ :
A B

(A) A+B . (B) B+A
A A+B
© 3 \ ®
19. The main of domestic savings in LDCs is :

(A) Savings by public sector undertakings
(B) Government savings through budget surplus
(C) Corporate retained earnings

(D) Savings by households
PGT (ECONOMICS) 2016—C 10
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17.

18.

19.

mammﬁamms'@ﬂm'manﬁ
s S o ¥ 2

(A) Y guar [mgra (B) =uA @ fag=
(cywmfazm (D) Heng e
99 feu m fa3 W o=E dfEQ

&
(©) -ﬁ \ D)

(A) mmmaﬁm
(B) w2 sfwes 0 WEN w=
() Fmfira wferamon it

(D) wE a=9d
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21.

24.

According to the monetarists, the Phillips curve in the long-run is ;

(A) Horizontal (B) Vertical

(C) Upward sloping (D) Downward sloping

What is the central idea behind dependency theories ?

(A) Developing countries should be dependent on free-m development
(B) Economic growth is dependent on the poor

(C) Free market development primarily helps 0

(D) All of the above are correct

Which of the following causes in
Himexam.com

(A) A stronger currency

(C) Increased interest r@ (D) Increased consumer confidence

Which one of the ing 18 not an example of indirect tax ?

-

(B) Sales Tax

(D) Custom Duty
Inflation redistributes income and wealth in favour of -
(A) Poor (B) Rich

(C) Middle class (D) Pensioners

PGT (ECONOMICS) 2016—C 12



20. W%m.mﬁmmmt:

(A) @ (B) FeafHr

(C) FW ) &el AN (D) A = TR AT
21. mﬁmmﬁiﬁtﬂ%mfﬁnwt?

(A) famaviter 29 # oy wen fawwm W s wE wfEg

(B) anidw dafp i w il sl # &

(C) =EE wren faw waEa: v siEEd @ W & ¥
(D) ITgE G wE ¥
8
90, frefetoa ® & ¥ wwm wm § FfG g2

23. ﬁqﬁ%ﬂi%gﬁ@vw\ammmﬂt?

(B fast-=1
(C) =19-F1 (D) & PEs

24. wmitmwﬁmmﬁiﬁmmﬁaﬂmt?
(A) T | (B)

(C) wH =t (D) Tymad

PGT (ECONOMICS) 2016—C 13 P.T.O.



25.

26.

27.

Which of the following gas does not contribute to the global warming ?

(A) Sulphur (B) Acetylene
() Methane (D) Carbon dioxide

Non-development expenditure involves :

(I)  Interest payments (I1) Subsidies

(ITD Defence expenditure (IV) Irrigation

Codes :

{A) (D) and (ID) only (B) (!) on O

(C) (I), (I and (III) only (D) (I, C}’end (IV) only
If two firms compete with each other :not fashion, then :
(A) Each firm views the prices as given

(B) Each firm views the ouﬂ*‘ the rivals as given
Each firm views e@s

(C) of rivals as given
(D) All of th e correct
The ki \wwe theory assumes :

(A) Firms not profit maximizers
(B) Firms are competitive with each other
(C) Firms may collude

(D) Firms fixes quota

PGT (ECONOMICS) 2016—C 14



25. Frefafes 6 § /@ F=d Sfvas ags § dem 98 0 & 2
(A) TERT (B) TEIfeER
(C) g | (D) *ME7 EEAAES
26. T-fawnda =g 4 afsfes 2 .

(I == YA (I =™
(IID) 75T =9 (Iv) feard
L
(A) Faa (D a4 (ID (B)
(C) =& (D), (II) = (IID) (D) WC) (IIT) @&1 (IV)
27, ufk @ v = dve § um gE R W
(A) mwvmwﬁ TN WA ®
m)mwmm%aﬁmmmmt
(C) wersm wd wferartt H1 &z gon A At
(D) IvfE wfowd §
28. fa=mfam w w1 wrEm T o
(A) wH @Y 8 8w ¥

(B) wd us g&t # wfowmsi &
(C) wH wHyzdafy HT Twdl &
(D) w9 vy fafeaa & #
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31

In which of the following growth models, Leontiefs production function is

used ?
(A) Boulding (B) Kaldor
(C) Solow (D) Harrod

The cross elasticity of demand for perfect substitutes is :

(A) Zero (B) Positive

(C) Negative (D) Infinit o
Monopsony is a market situation where thereé)
(A) One buyer, one seller

(B) One buyer, more sellers ‘ @

(C) More buyers, one

(D) More buyers, |lers
L 2
Lerner’s inde opoly power is given as :
P- ‘ P - AC
(A) P (B) AC
P - MC P-MC
(C) P (D) MC

(Where symbols have usual meanings)

PGT (ECONOMICS) 2016—C 16

L



29, focifafan Wtz #teeh 8§ A el fod=ie &1 3R FeA wam g2 & 2
(A) @fe=n (B) wesR
(C) #rel (D) ¥z
30. yuiear sfreenfos agal & fou =M &t sndl A= & ® -
(A) ¥ (B) wATEH
(C) =omessh (D) 7« :

31. wafusnr a% aen fafs & ol 8@ ¥ . C)

L
(A) TF BFal, T fama &
(B) uE Fa, s fama l(b

(C) Ffus Far, &
(D) #fus tg! &m
3. @R W j \fl« 1 guHE ¥ o
P - P-AC
(A) P (B) AC
P-MC P-MC
(C) P (D) MC

(ol @%dl ® I 394 §)
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33.

37,

PGT (ECONOMICS) 2016—C

in straight line consumption function, as income rises, the average propensity |

to consume :

(A Remains constant (B) Continuously declining

(C) Continuously rises (D) First declines, then rises

In IS-LM analysis, an inerease in money xupp‘ly will shift ........... , other things

remaining the same,

(A)

(C)

The ‘money multiplexer’ is defined as :

()

The saucer-shaped ave

(A)

(C)

LM curve to the right

IS curve to the right

Mﬂ Ml

ble cost was introduced by :

Marshall @ (B) Walras
Stigler \ (D) Stiglitz

Demand tion may be caused by which of the following factors ?

(A)
(B)
(C)

(D

Reduction in direct taxes
Increase in indirect taxes
Decline in wages

Decline in consumption expenditure
18 '



34.

35.

36.

37.

vF e ITIm wem #, 99 oM agEr & 3vEm # shea wgi o

(A) fer it ® (B) P w=d R

() Frm =7 ® (D) TE& wzdr & fer wgd #

[S-LM favdrm &, =1 ardl @ = T W p-ufd # gy oo dfeafda w1
2

(A) LM 5% =1 7@l 30 (B) LM 5% =i
(C) IS @% % Tl 3R D) IS 7%
m—wﬁvﬁwﬁaﬁmmt < ,
M, .
My | M,
© o, (b’ M,
avatl ® Wy AEa e w1 fasn femmr o
(A) ﬂlﬂ'ﬂm (B) FreAtd I
©
(©) Femmert (D) fenfaes g

# fmw FU0 W SEeEfa #a & ?
(A) W ¥ FHl
(B) awas w4 4 38

(C) worgdt | HH
(D) F9dm =@ H OFH
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39.

41.

42.

PGT (ECONOMICS) 2016—C 20

The equation M =&Y + &' is propounded by :
(A) Fisher (B) Robertson
(C) Marshall (D) Pigou

In the case of Cobb-Douglas production function, the returns to factors

are |

(A) Constant (B) Declining
(C) Increasing (I Indeter&

Who said that ‘Laws of Economics are like tides’

(A) Adam Smith (B) David Ricardo
“ ¢
(C) L. Walras ) Marshall
Which of the following factors w nsidered by the Fourteenth Finance

Commission in determini@ share in the divisible pool 7

(A) Income distance (B) Population
.
(C) Fiscal disﬁ\& (D) Demographic change
\ to

BASEL A\& :
(A) Central of the Countries

(B) Commercial Banks
(C) Both (A) and (B) above

(D) Neither (A) nor (B)




39.

41.

42.

THET M = kY + k' T wfoued & oo

(A) Tewm zm (B) awT g

(C) wE 3 (D) Hr g
wa-TEH IS FeE 1 frufy & wee & wfres 8@ 8 e
(A) fem (B) ®FAH

(C) afgam (D) s

frmy ww % ‘v # frm m=w-w2 W owE ¥ ?O
(A) wzm e (B) Az

(C) 1A, FeE (D)

frafafas SH 8 § F98 06 W
% Ty = fauifm w0 § fGan .

(A) s i @%mm
«(:)zm?raﬂu’ (D) wAifwewR aftads
¥ (BASEL) T

(A) B9 * % 3

(B) =fofa= &= |

(C) I7Fa (A) 791 (B) 21 R

(D) F @A) A& (B)
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486.
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If GDP is growing at the rate of 4.5 percent and population is growing at
the rate of 2.0 percent per annum, the proportional growth rate of per capita

income will be :

(A) 2.5 percent (B) 2.0 percent
(C) 6.5 percent (D) 2.25 percent
What is the targetted growth rate of agriculture in Five Year Plan

of India ?
(A) 3.5 percent
(C) 4.5 percent

Which of the following is

(A) Gram @

(C) Musta \‘ (D) Maize
Which pion territory is least populous, according to census 2011 ?
(A) Lakshadweep | (B) Sikkim
(C) Daman and Diu (D) Andaman and Nicobar Islands




45.

u&mﬂqm4.5ﬁﬁm%u¢m€:mm2mmﬁﬁu

A w3 @ A @ W =fE g sEaies afe 2 A o

(A) 2.5 wfem (B) 2.0 wfawm

(C) 6.5 e (D) 2.25 wew

e W 124 S A § g B e E @
(A) 3.5 W@ (B) 4.0

(C) 45 vfmm @y 6

(A) @ B) 7

(C) wE (D) wE
T £3 frer § B AT T/ 9 waR w6 Saed ae § 7
(A) W& (B) fafEw

(C) T WY (D) smEEE A FEER G-I
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47.

49.

Which of the following states has lowest literacy rate as per censu

2011 ?
(A) Odhisa (B) Rajasthan

tC) Bihar (D) Himachal Pradesh

Pradhan Mantri Bharat Jodo Pariyojana is related to which among the

following ?

(A) Communication O
(B Linking of rivers C)

\ 4

(C) Development of Highways

(D) Linking rail network to Nor rn States

Which Article of the Co&of India has a provision to constitute a

Finance Commissio

< —

(A) (B) Article 280

(D) Article 282

In which of the following states, Panchayati Raj was first introduced ?
(A) Uttar Pradesh (B) Andhra Pradesh

(C) Rajasthan (D) Bihar

PGT (ECONOMICS) 2016—C 24



47 wEE 2011 $ wgw, Pt el 8 faww @awa 2 owEd w9 % 7

(A) SEET (B) Trs=aT
() famm (D) femm=s w@w

48 u TE WEE WrE e @ geew frefeaten § R R 2

A O@

(B) Afzdi =1 e c)

(C) Temml w1 fEEwE .
(D) TA-Teaw & Su-yd e

49, m%uﬁm%f&vz@*ﬁa@n%mmmﬁ%?

(A) 9w 275 (B) = 280

\ (D) w282

50. freAfefaa ol & 4, 5 oo § demdt o9 # FEwed @v) e o

(A) I W (B) T wew
(C) == . (D) fa=m
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51. Chamba Princely State possessed more than 150 copper plate title deads.

Approximately how many of them belong to the pre-Mochammedan period ?
(A) Zero (B) Two
(C) Five (D) Seven

52. Raja of which Princely State was made prisoner by the Sikh army around
1840 AD. ?

(A) Suket (B) Mandi O
(€ Kullu D) Au@r

53. On which river is Pandoh Dam 7 N ¢
(A) Parbati Beas
(C) Suketi ’ ) Satluj
54. Which is the longest c@ HP. ?
(A) Bara Shigti (B) Mayar
(C) Gora \ (D) Murkila

55. Which section of Gaddis of H.P. claim that their ancestors fled from Lahore

to escape persecution during the early Mohammedan invasion ?
(A) Rajput Gaddis (B) Brahamin Gaddis

(C) Khatri Gaddis (D) None of these

PGT (ECONOMICS) 2016—C 26
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52.

H54.

55.

T T ® UE 150 ¥ ¥fuw ag v3 @me-gea ) s e e Aeees
FE RN AP R ?

1A 93 (B) 7
)y uf= (D) =M@

fom framm = TN W 1840 A ® e fam F R w1 w o ?

o
(A) @
(C) Thd ®)m§a
few # may T ferm Hr & 2
(A)wf‘msi (B) =aw
(C) T \ (D) Hfwen

few. = =TT M T8 T w ¥ e S qEenTl # E #
m#mla}ma%aaﬁ%fmmﬂtﬁmma ?

(A) TG T (B) #wE T

(C) ==t TEr (D) =T A ®E T8
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a7.

58.

59.

60.

Which of the following sub-castes accepts offerings in the name of dead by

performing the death rites ?

(A) Bhat (B} Khatik
(C)  Acharaj (D) Turis
Which of the following is a wind instrument ?

(A) ‘Sarangi (B) Cymbals

IC) Rabat () Flute O
In which district of H.P. is Simbalbara m&

&
(A) Sirmaur ( imla
(C) Solan ‘% Bilaspur
Which of the following is not by Amrita Shergill ?

Himexam.com

{A) Siesta (B) Black Nude

0\
(C)  Hillm (D) Kangra Bride
Which of the following hydro-power project is in Ravi river basin 7

(A) Upper Joiner - (B) Sumez

(C) Toss (D) Sissu

PGT (ECONOMICS) 2016—C 28



58.

59.

ffefem § | - 3 gaw & sy 0 3 A W TE S w
% ?

(A) w12 (B w=fes

(C) Frarsd (D) T

fatefas § F #99 am 7= g (fFg) 725 & 2

frotfafea 8 | e 9@-faga o@D w6 =@ a2 W R ?

(A) 2R =ET (B) HES

(C) @ (D) g
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61.

64.

Which Indian state’s tagline is ‘Small But Beautiful' ?
(A) Goa (B) Kerala
(C) Sikkim (D) Uttarakhand

What was Abhinav Bindra's rank in 10 Mtr. air rifle shooting at the 2016

Rio Olympics ?
tA) Fourth (B) Fifth
(C) Sixth (D) Seventh

Who is V. Narayansamy ? O
(A) Chief Minister of Puducherry C)
4

(B) Founder of Infosys

(C) Noted novelist %
(D) Editor of the Hindu : \

Which of the following is @s tion on way to the Amarnath shrine from.
Pahalgam ?
\ 4 .
(A) Bheem D a\ (B) Chandanwari
(C) Sh \ (D) Panchtarni

Who is scheduled to succeed Raghuram Rajan as the next Governor of Reserve
Bank of India ?

(A) D. Subbarao (B) Urjit Patel

(C) Vinod Rai (D) Shakti Kanta Dass
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61.

wra & fag T # e Wid 4w sawa’ o7
(A) T (B) H15
() fafam (D) SHrEvg

2016 #1 fd FA=fow S 7 10 @2t wsw mwHEa e ¥ wem 5 s S

=0 I
(A) e (B) df=al

(C) =31 (D) =wEl

o ARV wE O§ 7 0

fTg # TwEs
UEEH ¥ HANTY dredee m T ¥ faefefaa § 8§ S99 @ T8 s
2?2
@
(A) 4™ gR \ (B) F=7are!
(C) o (D) d=raofl

TREW T ® oA W Yy fod #% @ ek @9 warfaa @ 2
(A) =I. gearrE (B) 3 =

() faare w3 (D) viE s =9
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67.

69.

70.

Approximately how many people died in the earthquake that shook Italy in

August, 2016 ?

(A) 278 (B) 369
(C) 414 (D) 492
What is the proposed venue of 2020 Olympics ?
(A) Beijing (B) Tokyo

(C) Seol ' (M Mat)o

Who is the Prime Minister of Italy 7

(A) Matteo Renzi ) "Patrick Allen
(C) Evans Paul .*@)) Michel Martelly
Raul Castro Ruz, the P@t of Cuba, is Fidel Castro’s ...........
(A) Son . (B) Brother
N\
(C) Co% d (D) None of these
Which country hosted the G-7 summit in May 2016 ?
(A) China (B) France

(C) Japan (D) South Korea
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67.

68.

69.

70.

s 2016 # et F smw wwen & s fEA w@m oA T ?
(A) 278 . (B) 369
(C) 414 (D) 492

2020 B IEtus Ael F FEfas ™E REW E 7

(A) @i (B) 2=
(C) =& (D) Hfez

T2l ®1 WU WSl ®E % 7 C)
.
(A) #fzar =i (
(C) FaE uE %mm
mm@ma’?ﬂm % az frze wE # Fm AW E 2
(A) = . (B) wrd
\ (D) T | wE T

g 2016 @1 -7 forar weer faw &w A gn @ ?
(A) = (B) wE

(C) == (D) =fam e
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71.

72.

73.

In Indian context, which one of the following pairs is not correctly

matched ?

(A) Globalisation - Internet revolution
(B) Poverty — Calories intake

(C) Green Revolution — Organic fertilizers
(D) High Powered Money — RBI

Consider the following with regard to NABARD :O

(1) It was set up in 1982. C)

(2) It was set up on the recommen n ﬁ Sivaraman Committee.

(8) Its paid up capital on 3143-% T 500 crore.

Of these statements choos rrect answer from the codes given

below : @

Codes : . \
(A) (1) and Xmmect (B) (1) and (3) are correct
(C) (2) and (8) are correct (D) (1), (2) and (3) are correct

The Hindu rate of growth is related to :
(A) K.N. Raj (B) Raj Krishna

(C) KL. Krishna (D) V.K.R.V. Rao
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71.

72

73.

wrAts w3, fretafma el § 3 S gatee @ § 2

(A) FvErHTm — T=TAZ wIA
(B) i - E Tz

(C) =f@m == - FrEE FTAH
(D) = wifed HA — Exede )

qrarE ® meew § faetefas w959 w fa=an wiften

(1) 39T 74191 1982 # w47 C)O

(2) ¥HFET TN Al EvEs wEE w GERE ek s w23
(3) 3EH W 19 ZEw 31 9" 7 500 g o4

W owwE 3 F A9 fRg IW FH FHF wAQ

- %

(A) (1) Far 2F (B) (1) 7= (3) =& 3
() (@ ) T ¥ (D) (1), (2) = (3) TH F
fog Tafz =t =1 o= ¥ -

(A) F.97. T (B) T=FwI

(C) +.ud. F=m (D) #NFHEA. TE
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74.

75.

76.

77.

Which of the following is not an endogenous factor of industrial sickness ?
(A) Excessive manpower (B) Diversion of funds

(C) Mismanagement (D) Power shortage

Th.e main objective of ‘Quantity easing’ is to :

(A) Increase liquidity

(B) Reduce short-term rate of interest

(C) Both (A) and (B) ' O
(D) Neither (A) nor (B) Q

¢
Which industry provides the highest mployment in India ?
(A) Sugar ’ Cement
(C) Iron and steel +(D) Cotton textiles
The annual populati rate in India during 1981-2011 can be classified

(A)

(B) Stagnant population
(C) Steady growth

(D) High growth rate with definite signs of slowing down
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74. Trefefem & | s uw s s = s s oWl & 2
(A) Sfus e (B) wvg =1 famufras
(C) Fua=7 (D) fa==il =1 &9

75. ‘wawrs mewa W vHE 3w 8o
(A) 7TEa Afg

= (B) o ¥ wre 27 § H @

(C) 374 (A) a4 (B) Zr1
(D) T (AT F(B) 0
wT E 7

76. mﬁmmmmn

(A) ST
(C) w3 =W @\ (D) HA
7. udmswoui:@ e g @ @ = yen @ftes

(B)
(C) =i wfy
(D) 3= "3fg = fomd =g 39 & fifvee g9 &
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78.

79.

81.

82.

Which one of the following is the biggest component of India's long-term

external debt ?
(A) Commercial Borrowings (B) Bilateral debt
(C) Multilateral debt (D) NRI deposits

Euro came into circulation since :

{A) Jan. 1, 1996 (B) Jan. 1, 1998

(C) Jan. 1, 1999 D Jan. 1, z@

India’s foreign exchange rate system is : C)

(A) Free float (] P

(C) Managed float ixed target of band

Who among the following %ht an import tariff can reduce domestic
price ? Q

(A) Metzler ’\ , (B) Krugman

(C) Ma (D) Salvatore

Who gave the concept of opportunity cost in 1914 ?
(A) Haberler (B) Marshall

(C) Gossen (D) Wieser
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78.

79.

81.

82.

UIE & FwEE faeel ®mW 1 wel Wl aead e 8 f sem 2
(A) anfnfegs awm (B) fgwafm =mw
(C) =gusita =a | (D) safaret s

TN H o WO T E

(A) 1 ¥7=i, 1996 & ' (B) 1 &, 1998

(©) 1 wmaf, 1999 A (D) 1m,®

wia i fagelt fafmg 27 et & . C)

(A) a3 WEBHE (®‘

(C) wafag weemm § w dvz § fep a3
ﬁnﬁﬂh«%aﬁhﬁm e T HIHA F FH H GHA ¥ 2
(A) B . (B) wmA

\

a4 1914 ¥ Hast @@ F1 faun fewy fem @ 2

(D) Twaer

(A) FTEwER (B) wmyfe

(C) & (D) e
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B3. A specific factor of production can be used :

(A) In one work (B) In two works

(C) In many works (D) Cannot determine the number
84.  Which one of the following is not correct ?

(A) Second Five Year Plan (1956-61)

(B) Fourth Five Year Plan (1969-74)

(C) Sixth Five Year Plan (1980-85) O
(D) Eighth Five Year Plan (1990-95) 0
85. Which one of the following is not a Wt %ok land refsrdie ia Tadia 9

(A) Ceiling on land holdings

(B) Abolition of mtermedna+

(C) Improvement in il ertxhty

(D) Promoting ive farming
86. The ieultusal Prices Commission (APC, 1965) is now known as :
(A) The Department of Agriculture and Cooperation
(B) Competition Commission
(C) State Warehousing Corporation
(D) Commission for Agricultural Costs and Prices
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s @ fedl fafm2 wTOR w1 v fE o ww ¥

(A) TH FE A (B) @ =

(C) ¥® wAl # (D) e & fuin T s T
e & ¥ B T qE W E 2

(A) feda dw=evta FA1 (1956-61)

(B) =md gaEdty A9 (1969-74) @

(C) 25 U=adta e (1980-85) O

(D) 3wl dEEurs A@eE (1990-95) C)

(A) FW weaTa favm
(B) wfoeyi s

(C) T " wvary fam

(D) FfH @@ UE g A
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87.

89.

The ‘small farmers' in India are those farmers who have a farm size :
(A) Between 0 to 1 hectare (B) Between 0 to 2 hectare
(C) Between 1 to 2 hectare (D) Between 2 to 4 hectare

Who among the following economists has not given a model to explain pricing
in a duopoly market ?

(A) Bertrand (B) Chamberlin

(C) Cournot (D) StackelO
According to Stackelberg, where is the 'Cournot @a uated on the demand

: 2
line of a firm ? .

(A) When elasticity is unity

(B) When elasticity is less
(C) When elasticity is than unity

(D) Anywhere on_the %d line

When the ‘nk wth in one region had adverse effect on the other

regions,
(A) Backwash effect -
(B) Brain drain effect
(C) Trickle down effect

(D) International demonstration effect
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87.

89.

g d ‘e FEE 4 Fus § e ad w1 oaew %o
(A) 031 % T = 99 (B) 0F 2w 7 0
(C) 182 %W 5 9 (D) 284 tm & 9

frafafaa sdenfed § 3 foad gafusdt a9 § wma Gl 51 =2ren 3 F
fou wiem =ff faan % 2

(A) wF=® (B) Smafem @
(D) ,

(C) =

2feet # sgER, Tt W o9 T w e fen e fom e g 2
*

(A) v& &9 3% @

(B) 9@ #9 %% § H9 W (b‘
(C) 9™ &= = | \
(D) =M | W h

'S
& TH 4 2 g afg =1 73 &6 W favim wwm w2, @ @ we ¥
(A) wiaamd
(B) #fg vam wvE

(C) fzws zEs uvA

(D) A=Y WEYA W9E
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91.

92.

93.

94.

95.

According to Meadows, the “Limits to growth™ should be :
(A) Zero percent (B) Between 5-10 percent
(C) Between 10-25 percent (D) Between 25-50 percent

The assumption of the Mundall-Fleming model is :

(A) Flexible exchange rate (B) Fixed exchange rate
(C) Semi-flexible exchange rate (D) Semi-fixed exe rate
Where did Enke favour investment ? C)

(A) Traditional sector

(C) Birth control

(B) Arthur Lewis

(D) H. Stiglitz

investment is ¥ 600 crore, what shall be the change in income ?
(A) 2 600 crore (B) T 1200 crore

(C) T 1800 crore (D) T 2400 crore
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91.

92.

93.

s @ s, Cdafe w5 d ER =

(A) v wiaeE (B) 5-10 wiem % 4
(C) 10-25 wiaer & =4 (D) 25-50 wfom & W
HUBH-FEEN wiEe w1 W § o |

(A) e A = (B) Tro fafemm =

(C) G-wramwn fafg =7 (D) =13

w= g femd fafrdm = 9s & o 2 C)

(A) WEEPTE A &%ﬁ
(©) = fm @am

vae yam fogra &= ?

(A)mmzﬂ@ (B) =t afaw

(¢) =d \ (D) T fenfa

af INIm =, wafa 0.75 @ a1 @ge faf@m 3 sfeds 2 600 wig =

R, @ g #§ ofgds @ .
(A) T 600 HUE (B) T 1200 %12

(C) T 1800 &U% (D) T 2400 Fig
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97.

98.

100.

Kuznets' Environmental curve shows a relationship between :
(A) Environmental degradation and fertility rate

(B) Environmental degradation and income per capita

(C) Environmental degradation and educational level

(D) Environmental degradation and life expectancy

The Worid Environment Day is observed on :

(A) 5th March (B) 5th Jmo
(C) 5th September (D) IOﬁ@ember

The meaning of ‘core sector' in Indian irfg refers to :
(A) Defense industries ( iculture
(C) Selected basic industri ) Iron and Steel industry

The cost that a firm inc@ urchasing raw materials for producing a

(B) Variable cost
(D) Implicit cost

Which one of the following is a regulatory body for security market in

- India ?
(A) SEBI (B) IRDA
(C) RBI (D) EXIM Bank
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96. Wmmwﬁnaﬁmﬁmmaﬁzﬁiﬂﬁ%?
(A) TEETE E A9 we at
(B) wufEwia g4 a9 wfy =afs s
(C) WAy B Fgr e w1 =

(D) YAEOTE FE a9 SE3-TEEn

97. Tava wafam femm momn o % @
(A) 5T (B) 5 A O

(C) 5 faamr (m 10?@

98. ynaE e 9 'sr 93 %1 3d 599
(A) &1 @M J ' Fa &

(C) === genm = F .*. ) #E A I I O®

99, T &/ = e %aﬁiwaﬁmﬁmﬁuﬂrﬁm
t,z@rmﬂt:’

(A) = \ (B) wf=dg =rm

(C) T (D) WL wE
100. wrE # wfryfa amm = fafm #5 oo gen fas § 4 s 8 2
(A) & (B) =1

(C) #En.3m. (D) uFsE &
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